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8000 GeV pp Z (Drell-Yan)

a =T T T T T | I I T T TTT | I I T T TTT | I I T T T 9

> - - 13

O 10° = Splitting SC""'e\/CTo (71 < m <111 GeV) — >

o) — E%

= s N

1107 = =

o E S

— - <

%) = =

e &
1 =

107t & —_

= j {®)

— :%_‘J

107 £ =3

— 5O

— =m

— 1<

-3 L __i

10° 5= m  ATLAS =<

— —¥— Herwig 7.2.1 softTune 4=

1074 = —4— Pythia 6.428 370 =

— —&— Pythia 8.308 default 39

m 14

_5 | _H

10 ° E =53

— =0

=+ - HHH ————HHH ST b

2 42
%) - -
< — |
-l - —

|_

< B |

= 1
o |
T —
m —

—0.5

1 1 I|

3

0 10
sqgrt{d_0} [GeV]



	Contents
	Page 1


